Jeo TN 1,

o . fy L l~
w) LxtOxX- 1) - (7%;)(\;\4 () (X ;) b (Mﬂ:w»ﬁ_) ~ < Chellon 6{/\/
Sl e (3-) k2% ~11Q/2x —-EXt) N 9°
} 5 } ’”% = A NE["(A -2 ( '
e e S (A-M(At3) W e
= =23 P B TrEF 23S
— —& s (x-u-1) (x-kt3) =
C1 (o2 )l e ey SIS
o (x5 ) (-3

. { (-2 A% 5)) { ot Q% 3)? IR

- (e-4) (et A) (3) 8(>cl'~35%2
oA < qqx- 4y @ (3)+3) g

2

e - det2) | 2§ (O 2¢)3T2 )

i @«-@(q/;wz/&fc‘/

N R S TY A (6c)

() le-iey = 36c
A

Y g 3xa—éxy-auy”

sy =2x-6Y) s AT-3dC
3 (- t2) g = (atéc)(A-Cc)

= (¢ -34téc) (=34 ¢) @




B | @358

KeHeRa R+ wiEdhvidy

ik X « —oxae

:.jm
ﬂ..4,.~
//w/ﬁﬁ.
FLNARS

T

BE

N mDewE

o F

i
~o/

Sasnd -
AR O

{

TR N

T (@ sV )

7N

N
N

N7 7

Y ¢

2N
L f
N

2

PETENS

=

-

N

@

Do R0

PN by

-~ .
ied T

=
< | lw,\,m\.q. e

W b

NG L

S0 Y

N

® K@le¥ A

RSN

oo
«/NJ,/,: /

/ma...,.,v., x.x
il ey
KX

M\m%

O FarRE

ARy W«/I;V.

B N <=8
2o,
.«.\] \.I/L,{ ’

RO N
NMDORYCHERE
¢ el
B
v «/ﬁf,\p//

i 9K @

XHE O~ @ o @

(YR ANSDTY

-

4/8

iﬁfiﬁ 203) © 4 (O+29)(x 24)

Y (26+3) (20 -3)

@

@ 27 (x+24)(-2Y%)



